1p 82
Rally Table - 2 min

Face partners

A starts



1p 82
1 Both
2 Whereas
3 Both
4 Rather than
5 While
6 but



2p82
Think-Write-Round Robin

Writing - 1 min
Discussing - 2 min



2 p82

Expressing similar Expressing
ideas contrasting ideas

also, as well as, too However, neither,
rather than, while, but



3 p 82
Listen and note down the reasons

Single Round Robin - 2 min

Partner 2 starts



3 p 82
The speaker prefers a cruise because
he would see a broader selection of
sights on a cruise, he loves the seaq,
there are lots of activities, it is very
luxurious, and entertainment is
provided



4a p 82
Timed-Pair-Share - 2 min

Shoulder partners

B starts



4b p 82
Listen-Write the reasons

Single Round Robin - 2 min

Partner 3 starts



4b p 82
People might visit archaeological sites:
out of a sense of curiosity, to gain a
better understanding of ancient cultures,
to admire their beauty, because they are
intferested in history and architecture.

People might visit a resort: because they
enjoy relaxing and the feeling of luxury.
Also they can see new places and meet
new people.



4a p 82

In picture A, I can see an archaeological site, it might
be a temple, and in picture B, T can see a very
luxurious hotel with a pool. A good reason why people
might go to the place in picture A is out of a sense of
curiosity about the past. Another reason would be
that maybe they are people who want to gain a better
understanding of ancient cultures or perhaps they
simply want to admire the beauty of the sites. People
who visit these types of places usually have a strong
interest in history and architecture. On the other
hand, people might go to a place like the one in
picture B because they want to relax and the feeling
of luxury that staying in a resort provides. Also, they
might like seeing new places and meeting new people.



5p 83
Listen-Explain

Rally Robin - 30 sec

Face partners
A starts



5p 83
1 successful
2 Too short

3 irrelevant



6p83
Listening and choosing

Single Round Robin -1 min

Partner 4 starts



6p83
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6p83
A: T think the first speaker was successful. Do you agree?

B: Yes, he spoke for the correct length of time and had some
good arguments. For example, he pointed out how different
young people are from older people.

A: Yes, and he gave examples, like going to discos/going on
activity holidays.

A: What about speaker 2?

B: She said very little but what she said was fine.

A: Yes, she said that young people are adventurous. But she
should have given examples of the things they like to do.

B: I agree.
A: And speaker 3?

B: He had interesting things to say but he did not answer the
question.

A: I think he forgot what the question was!



/p 83
Mix-Pair-Share

Timed-Pair-Share - 1 min

Partner with more pockets starts



/p 83

As far as I'm concerned, young people like
to have fun because they are young and
full of energy. They Ilike to do
adventurous things such as skiing and
bungee jumping. Apart from that, they
don't care as much about museums and
famous buildings as older people do.



8ap83
Role-play - 4 min

Face partners
B starts



8bp83
Listen and take notes

What they decide on?

What reasons do they give for their
choice?



8ap83
A:. As the Smiths are on a tight budget, I think a
hotel would be too expensive.

B: Yes, I agree with you. Furthermore, the children
like being close to nature so a seaside cottage would
be better.

A: Well it certainly is close to nature if they like the

sea. Another possibility is the lodge which is in the
middle of the countryside.

B: They are very suitable but maybe the campsite
would be cheaper and they would also be very close to
hature.

A: Yes, you are right, that would be the best option.
Camping would be great fun for all the family.



8bp83

They decide that the place in picture B
would be the best place for the Smiths.
It would be a cheap holiday as they could
stay in tents and do their own
cooking.Also, they would be close to
nature and they would be able to meet
lots of people who probably enjoy doing
the same things as they do.



9p 83
A pair discussion - 3 min

Partner with darker hair starts



Home work
Wb ex 3-4 p 41



9p 83
A: One of the good things about travelling is
that you get to see lots of new places and,
therefore, you have the opportunity to learn
about other cultures.

B: You can experience different lifestyles as
well. For instance, you can try local dishes.

A: That's right. One of the benefits of
travelling is the ability to enjoy new
experiences.



Reflection
Rewind- What would you like to rewind to
have another think about?

Record - What is worth recording so you
will remember of?

Change channels - What could you do
differently?

Stop - What sort of thinking is not
useful?

Fast forward - What do you need to think
of next?



